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Note : This paper contains FIFTY (80) Multiple-choice/Assertion and Reasozﬁng/
Matching questions, each question carrying TWO (2) marks. Attempt All

the questions.

A8 2 WUl v (M0) otgdsRus dadl, A-ulg wA ASSL sirlaal Usedl
B, dMIM Waidl waiel amdldl 8. s Wi 4 (}) a1 8.
values and culture of dominant QR el i aﬁmﬂl ¥R 52
- Bedld........ Fell GeleV YU
group, it is an example of .......... .
ws ¢ d
(A) Cultural assimilation _
(A) uirglas ucrualsia
(B) Cultural Pluralism B) %i[& 5 ollee
(C) Cultural Complex © ;&[%%m 34N
(D) Ethnocentricism (D) %q%{z-{[&& [
2. Which of the following concepts of o [ A4l+ll 58 Rt 6liSYN 48

capital did Bourdieu use ?

(A) Cultural, Economic and

Political
(B) Economic, Political and Social
(C) Political, Social and Cultural

(D) Social, Cultural and Economic
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(capital) Mle dluR :

A) dul, 2ills »A xSl
B) 2utls, FsU wA AUS
(© xS, Aeulrs 2w ARglas

D) Aeulrs, Ay A 2ulHs
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3. Match Column I with Column II in

relation to locate of study :

Column [
(Authors)

(@) S.C. Dube

(&) M.N. Srinjvas (i)

{¢)  Andre Beteille (iii)

(@ LP. Desai
Codes :

@ (&)

A @ O
(B) (i) (i)

) @&

(iv)

D) Gv) i)
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Column II

(Works)

()  Rampura Village

Shamirpet Village

Mahuva in Gujarat

(iv) Sripuram Village

&) (d)
() @)
@ Gv)
() @)

@) @)

3.

(a)
b)
(c)

(d)

Sl T A Sl I1 | 2Aeue HBeL

wufl s

PATCEYN |
(Avis)

2.l gal

siad X1
1)

(@) UHYRL U

oo, M @) sl Ve oy

IR

(i) el AR

AL 2SS  ) AyRM oum
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(@) &)

A) G) ®

(B) Gii) (i)

(CY &) Gv)

(D) Gv) i)

©) ()

(iv) (iir)

@) (o)

() )

@) @)



4,

Assertion (A): According to
Durkheim, the
more integrated

- a society,.greatér
is the social
solidarity.

Reason (R) : Too much of
integration, leads
to anomic forms

of solidarity.

" Select the correct answer from the

codes given below :
Codes :

(A) Both (A) and (R) are true and

(R) is the correct example

of (A)

(B) Both (A) and (R) are true and
(R) is the incorrect example

of (A)
(C) (A) is correct but (R) is false

(D) (A) is incorrect but (R) is true
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gLl (A) gw[fSétvu Y 3,%’&,
AHLY Bed dAHIR
Ald slu 8,
Lgadl

(Solidarity) usL

AwluLixs

quil ¢id 8.
daf R) : aul? ysd YA~
alRel [l Yeedir
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PICEE

(A) (A) ¥ (R) o :m_i 8 A (R)
N (A) 4 WY GueR 8.

(B) (A) aﬂ (R) i amié wig (R)
B (A) o vig Gelsr kY

(C) (A) méj, 8 uz'g; (R) Wi 9.

D) &) »¢ B wig ®) Wy 8.
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The concept of ‘life chance’ was used

by Max Weber to refer to :
t‘A) Status

(B) Power

(C) Class

(D) Ethnicity

The marriage of a woman to more
than one man at the same time is

referred to :

(A) Polyg&ny

(B) Monogamy

(C) Serial Monogam&
(D) Polyandry

Who among the following is not a

functionalist ?

(A) J. Alexander
(B) K-ingsley Davis
(C) Talcott Parsons -

(D) J. Habermas
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5.

6.

7.

Asudal  “‘@ad-dl dast’”’ ]
[Rouaridl ¥ salaal w2 Guia sl

s

(A) L%

B) ala

(C) adl

@O) dsfluch

25 % AL 83U s YuA syl
ag Weflpil slu d @ e

sdaly 87

@A olgucdl @on

B) s wa—ucil @on

©) s Ry yell o

D) oigula @i

Frt U4 giw ital'dfqvél “i2]?
(A) %. 2A5%-53 ‘

(B) B-rd 3R

(C) aldsie Wy~

D) ¥, M



8.

10.

A research student made a study

of matrimonial classified

advertisements of a new paper of
Gujarat to analyses the kind of
preferences for the life partners.

This form of analysis is :
(A) Statistical anélysis
(B) Content analysis

(C) Comparative analysis
(D) Historic analysis |

Which of the following scales has

real zero origin ?
(A) Nominal

(B) Ordinal

(C) Interval

(D) Ratio

A clerk working in Gujarat
government office in Anand, gets
transferred to Ahmedabad office as

a clerk. This is an instance of :
(A) Horizontal mobility

(B) Vertical mobility

(C) Downward mobility

(D) Upward mobility

Sociology-11

N5 Wesdl YUl srwnl 2uadl
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(A) wtissiBy A-ufaly

(B) svew2 vi-ufdAln

(C) da-ticis ARy

@) Al Ay

Mt Ufld 59l v Geslad Rl
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A) il
(B) lisl4
(C) Sw2rad
(D) alul
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(A w8l

B) Goll
(©) =l

D) Gedouxl
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11. Assertion (A): The situation in

which an
individual faces
at the same time,
demands from
two or more roles
that do not
match is called

role conflict,

Reason (R) : Role conflict is
not common in
traditional
societies as each
individual plays
a limited number

of roles.

Select the correct answer from the

codes given below :

Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

(B) Both (A) and (R) are true but
(R) is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
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315 H

(A) (A) 21 (R) ol A1 %A (R)
2 (A) 4 WY vy B,

(B) (A) %A (R) 4 A1-i 8, gL (R)
W (A) 4 WY e -],
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12. The study of “Kula” form of 12. ‘‘sal”’ At usk 31 wd

exchange is associated with ........ . dsouddl 8 A :

(@) Trobriand Islenders @ 2BA-s Buarlui
(b) Radcliffe Brown ) sBag G

(¢) Andaman Islanders ' () d-SHIS [Ruarflil
(d) Malinowski (d) wdi-iasl

Codes : 5\S :

(A) (a) and (b) (A) (@) ¥ (b)

(B) (b) and (c) (B) (B) ¥1 (0)

(©) (¢) and (@) (©) (©) YA (D)

D) (@) and ) | D) (a) 21 (d)

13. Match Column I with Column II : 13, fiad I A sigyd Twd Aadi:
Column I Column II slan 1 siay 11

(@) Karl Marx (i) Cyclical theory @ sidadu ) wuBasa Ay

() Toynbee (i) Dialectic @ auell Gy Swuabes
) A. Comte (iii) Linear @ A s ) RRe-
evolutionary Sdiequn?l
(d) T. Parsons (iv) Functional (d &. WA (v) §5ud
Codes : o S :
@ @ © @@ @ ® © @
A () @& G @) A @ @ G ()
B) @) @ @) G) ®B) @ 6 i) ()
(©) i) @) & G © G () © @
D) G G G 6@ D G G O G
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14.

15.

According to which thinker, there
1s a circulation in societies in ruling

elites from “lions” to “foxes” and

back.

(A) Max Weber
(B} G. Simmel
(C) V. Pareto
(D) H. Spencer

In case of doing research, which
of the following is the correct

order ?

(A) Formulation of the problem,

data collection, hypothesis,

analysis of data

(B}
the problem, analysis of data,
hypothesis

©)
hypothesis, data collection,

analysis of data

(D) Hypothesis, analysis of data,
formulation of problem, data

collection

Sociology-I1

Data coilection, formulation of

Formulation of the problem, .
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14.

15.

sul (AL S HalqALR Al
Al sy Caqn’’ ol
“glsun’’ A angd uReuel ug
87

(A) A5y Qo2

(B) @. Mda

-

©) dl. WRai

D) NA. W2

daliaql wBurd sdl M Wil 87

Wlsdl

A5G, GUusendl 2y R

(A) AL 4SdR,

isS1g [Asdng

- (B) wlRdlg AsBisw, Wi

9SdR, Aissly [asdveg,

Guseunfl -

() AR 8SdR, Guseydi-l
AL, isSlY vsDis,

2issld (Asqual

D) Guseu-i-l AL, Aissid
[A2amar, Al usdR, wissig
2561528



16. Which of the following is non-

17.

probability sampling ?

(a) Simple random sampling
(b) Purposive sampliné

() Stratified sampling

(d) Snowball sampling
Codes :

(A) (a) and (b)

(B) (@), (b) and (c)

(C) (b), (c) and (d)

(D) (b) and (d)

According to the critics of Srinivas,
the consequences of Sanskritization

are :
(A) Cultural mobility of caste

(B) Change in caste ideology—

Hierarchy
(C) Change in religious system

(D) Structural change in caste

gystem
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16.

17.

Pt WA sy [Br—eid [Reddq

s 37

(@ WAL w9 [Fedl
b) dqdal (e

©) R [Fed

d) +ield Fed

4iS

(A) (@) ¥ ()

B) (a), ) ¥4 (©)
(C) b)), (&) ¥ ()

D) &) ¥ (@

slMaia-l [2s1siidl Hd 3o

dglase wiRenHl 8.
(A) -l wizglas aladlad

@) sl dalsar sifesuul

oleAld
©) aBis—aaeni wRad-

@) sR-eauul Horeudld wRad-
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18.

19.

Which of the following are examplesl
of “total institution” according to
Goffman ?

(@) Mental hospital

(b) Village

{¢) Boarding School

(d) Gated Neighbourhood
Codes :

(A) (a) and (b)

(B) (a), (b) and (@)

(C) (a) and (c)

D) ), (¢) and (@)

Who is the author of the book “The

Religion of India : Sociology of
Hinduism and Buddhism’ ?

(A) Louis Dumont
(B) Max Weber
(C) Durkheim

(D) G.8. Ghurye

Sociology-I1
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18.

19.

SMigAAL M Yoyor it WSl 534 Rsey

“Aysl—aiaar’’ o siwel 87
(@) A-2d ¢ilRued
(b) g

() oSl wua

@ Yrauds (A2s) usia

$lis ¢

(A) {(a) 21 (b)

(B) (a), (b) 21 (d)
(C) (a) ¥ (¢)

D) b)), () A (d)

‘¢ Rellopu-t s syt : Widio
5 [Reg S ¢ &SH’ Al Quis

seL B7

(A) q8u syl
(B) Asu A4
(C) guldu

(D) .9y, yd



20. Which

‘according to Comte, in which

21.

22,

is the correct order,

sciences emerged ?

(A) Astronomy, sociology, biology

and physics

(B) Sociology, physics, biology and

astronomy

(C) Physics, biology, sociology and

astronomy

(D) Astronomy, physics, biology

and sociology

Which of the following is not a
functional imperative according to
T. Parsons ?

(A) Adaptation |
(B) Goal attainment |
(C) Integration |
(D) Assimilation

Which one among the following is
an instance of social action

according to Max Weber ?

(A) Two cyclists colliding with each

other
(B) Persons travelling in a train

(C) Two cyclists exbhan_gé blows
after they collide '

(D) Persons opening 'umbrella'

when it starts rammg

Socmlogy—II
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20.

21.

22

Sl MlgAIR 541 $4 WRL D), 3
Fui (sl ¥ wd)?

(A) &AW, AHHAURA, DA
2w elLlasa

(B) A, AL, DA
WA, A8 A

() MURSWAL, DAL, UHIBLURA

il &AM

(D) W, elfadsurel, D
Bl UHLA WA

2EH2 WAL Hel Yoot (P Ul
54 usialcis aHadal eig #l?

(A) ¥irigan

(B) agu—uindl
(C) YA
D) uMls8l

Ay Aoraeil Mo Haret (e Wl 8y
Q{LH[[%—[%!{ML tluel 87

(A) W5 waig sl wl
waustag

(B) Ns el HaukE

(©) Aot WA 2asL Ul W
aiidl adl waeul

(D) aue 143 2aai-ll d s
e9a3) wiadl/Gousdl
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23.

24.

(a)

{b)

()

@)

The concepts of manifest function
was given by :

(A) T. Parsons
(B) Radcliffe-Brown
(C) Robert Merton

(D) Malinowski

Match List I with List II and select

the correct answer from the given

codes :

List I List II
(Thinkers) (Books.)
M. Weber (&)  Division of Labour

R. Dahrendorf (iZ) Theory of Leisure

Class

E. Durkheim (i)

T. Veblen (iv) Class and Class
Conflict in Industrial
Society

Codes :

@ ® © @

A & @ GEH) G

(B) Gid) (v) G) Gi)

©) G) GiD) ) 6)

D) () G 6 Gi)

Sociblogy-II

Economy and Society
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23.

24.

(a)
(b)

{c)

(d)

‘wae 514’ 4 Rewat S8 iy ?
(A) . Wy

(B) $[3aAs—aiiGn

(C) RUoié Hé~

D) el

el 1A el I 0l Al a2
G sisuid] W Guy wiEl

el 1 wél 10

(R s) (Yct%) |

WY AW ) SlAYA s AeR

wiR. $esé @) (AU dis dar
S

§. euldu ) Ssiidl s
NEIDE

. dedA (o) SQIU A-S sAlH
sieslse O+
Sredlud Al

1S

@ &) @© (@
(A ) Gv) G GD)

(B) @iy Gv) () @)

(C) G Gi) Gv) ()
D) Gv)y G
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25. Field work using participant

26.

27.

(B)

observation method is known as :
(A) Historiography

(B) Ethnography

(C) Social Survey

(D} Pilot Studies

Cultural relativism means :

(A) Function and meaning of a trait
are related to its cultural

setting

One culture is related to

another culture

(&)

C_ultural evolution is relative

(D) Cultural diffusion is relative

used the terms

Who has
‘orthogenetic’ and ‘heterogenetic’
change in the study of Indian

tradition ?
(A) Y. Singh

(B) L.P. Vidyarthi

~ (C) M.N. Srinivas

(D) S.C. Dube

Sociology-I1

15

25. f-(la—s1dui Aot MR el

26.

27.

Gualdl GuR waRd ugld g sda

8?

(&) RaARHuE

(B) a-iugl

(©) uRya ad

D) wydl2 18l

dikgls WAL »ied :

(A) As URQAS dead s1d w1 nef
a-l wixglds wWRAg 0 As1Aai
gl 8§

(B) s (A (Ciw gl 08 As1ddl
gl 8

(©) Aixls Gostlh wa Slu 8

(D) wirglds A9 A Sy O

ollaMl Wyt uyREseAL
AU UUFFRS” 2 SAFA2S’
yRad«-l [@eiaddl Guuial 519
sy1?

(A) aw. Ala

(B) Ae. . [Qeuyl

©) Ao, HRan

D) .l A
[P.T.0.]



28. The concept of “ideal type’ in itself  28. ‘diiedl u3W I {Asua-u ‘-ﬁdHlHL

18 : ' : _ ws
(A) Virtue | (A) A2 B
(B) Reality (B) akelasdl sin 8
(C) Abstration . (€) dirRe B
(D) Truth D) A ¢y B
29. The idea of self and society are not 29, ‘3"’ u “‘Unir’’ L [ 2
being identical is conceived by : UL Al A S8 y?
(A) C.H. Cooley (A) A, godl
(B) M. Mead (B) 4. s
(C) P. Berger ©) . «lz
(D) G.H. Mead D) 2.9, s
30. Which of the following is associated  30. [, U8l 54 viissisly [Qadng 2418
with quantitative analysis ? Asaudg o7
(A) Case history | (A) Auisedls awy
(B) Participant observation (B) aseell Maw
(C) Simple random sampie (C) ¥ ygu9 (e
(D) Ethnography (D) le-tizusl
31. ‘The Structure of Scientific gy < R5AR lis WYddls Relieyquy’
Revolutions’ is written by : - : al Aus 8 :
(A} Harold Garfinkel (A) 3UeS WAdsd
(B) A. Kuhn (B) NA. g
(C) 1. Wallerstein © 8. A
(D)_ T. Kuhn D) &. §w

Sociology-I1 . 16



32. Who among the following used the

33.

34.

35.

- term ‘Symbolic interactionism’ ?

(A) G.H. Mead
(B) H. Blumer
(C) C.H. Cooley
(D) H. Becker

Which of the following scholars used
participant observation method to
study city gangs ?

(A) Robert Redfield

(B) C.W. Mills
(C) W.F. Whyte
(D) B. Malinowski

Theory of embourgeoisiement was
put forward by :

(A) K. Marx

(B) C.W. Mills

(C) J.H. Goldthorpe
(D) T.H. Marshall

According to Anthony Giddens,
sociology is the study of :

(A) Social institutions that emerged
in the wake of modernity

(B) Political systems that emerged
in the wake of modernity

(C) Human behaviour in general

(D) Human relations

Sociology-11

32.

33.

34.

35.

CRpofas SrezvisuaFon -l
fAeua-l sig 2udl?

(A) 2.3, dls
(B) WU, 6gH2
(©€) M., gdl
D) AA, o3

2wl 2reilRct Sl AU 8¢
syl Qg weowdll Alaw wglasi
Guyial sul?

(A) Ase s(3¢s

B) l.suey.

(C) SH&Y. Mg, Wl

() ofl. el

a2 oUinRe2’ Al Raldnl S8
vy ?

(A) sid Hsn

B) A.suey. R

(C) F. %, OUSUIN

(D) .2, wald

Areefl Bl HAHZOL AHTARA

I |
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AABY gl

(C) WHIUE Ml Hasir

(D) AAdly Adoiu
[P.T.O.]



36.

37.

38.

39.

According to Goffman which one of
the following is an agency of
re-socialization ?

(A) Family
(B)- School
(C) Peer-group
(D} Prison

The Hindu ° Adoption
Maintenance Act, 1956 is also
applicable to :

and

(A) Muslims, Christians, Jains
(B) Buddhists, Jains, Sikhs
(C) Buddhists, Sikhs, Christians

" (D) Buddhists, Jains, Muslims

The scholar who studied ‘joking

- relationship’ is :

(A) Radcliffe Brown
(B) Levi-Strauss
(C) Raymond Aron
(D) B. Malinowski

Which is an appropriate tool to
collect data from a large number of

educated persons spread over a wide
area ?

(A) Interviews

(B} Case Study
(C) Observation

(D) Questionnaire
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40. Which of the following books

4]1.

42,

Sociology-11

is based on doctoral work of

A.R. Desai ?

(A) Religion and Society Amongst
the Coorg of South India

(B) The Social Background of

Indian Né.tionalism _
(C) Caste, Class and Power
(D) Peasant Movement in India

Who viewed history as- the

graveyard of aristocracies ?
(A) V. Pareto

{B) A, Gouldner

(C) A. Toynbee

D) G. Mosca

Who, among the following has
emphasized the positive functions of

the conflict in society ?
(A) Lewis A. Coser
(B) Karl Marx

(C) Max Weber

(D)} Emile Durkheim
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43.

(a)

(&)

{c)

@)

Match list I with list II and mark

the correct answer from the codes

given below :
List 1
(Concepts)

Secial Statics (1)

and Dynamics

Militant and (2)

Industrial Society

Gemeinschaft (3)

and Gesselschaft

Mechanical and (4)

Organic Solidarity
(5)
Codes :

(@ @&

(A 2 (B B

B 6 1) @

e 3 @ @

D) @2 3 (2

Sociology-II

(d)
(1)
(2)
(4)

(5)

List If

(Thinkers)

E. Durkheim

A. Comte

F. Tonnies

V. Pareto

H. Spencer
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44. In research, .............

45.

e in data

collection means that your findings

truly represent the phenomena you

are measuring ?

(A) Reliability

(B) Validity

(C) Objectivity

(D) Subjectivity

In Parsonian framework of social

action which one of the following is
not within the control of an

actor ?

(A) Goal

(B) Means
(C) Condition

(D) Situation
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46. For Durkheim, society is :
(A) Sui-generis
(B) Functional to individual
(C) Characterised by conflict
(D) Moulding human attitudes

47. The count of the number of cases
that fall into each of the variables

categories is :

(A) Class interval
(B) Frequency
(C) Sample

(D) Mean

48. 'Who among the following was of the
view that it would be inappropriate
to look at joint family system as a

collection of nuclear families ?
(A) I. Karve

(B} M.S. Gore

(C) P.N. Prabhu

(D) P. Kolenda
Sociology-I1
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49. Which of the following is wrongly

matched ?

(A) Radcliffe Brown—The
‘structure and function in

primitive society
(B) G.H. Mead—Mind, Self and

Society

(C) H. Spencer—Principles of

Sociology

(D) Max Weber—Elementary forms

of religious life

50. The theory of relative deprivation

is drawn from the material in :
(A) The American Soldier

(B) Social Theory and Social

Structure
(C) Division of Labour in Society

(D) Protestant ethic and spirit of

capitalism
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ROUGH WORK
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